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A. (24%) Select the best answer for each of the following quéstions (1-8):
ek ve
\#EH T “ ﬁ{f 101011 B) 100101 C)101001  D)Nomeof mifaz:e
2) Using & bits to represent an integer, the 2’s complement rep? resentation
integer (-23 ) is: .
A) 1001011  B)00010111 11101001 D} Noe of the abo¥ 2
3) 26 in Uctal equals the following Hexadecial value: e %
A);IG B) 26 0) 13 D) None of the 2 - ;q ;
4) An integer value is usually’ represented in memory using: 11107 o 1t
2 bytes B) 2 bits C) 16 bytes - D) 3 bytes ——— ol
5) The representation for the character ‘B’in memory (in b adecimal ) is: _oameteet g le
- AY62- - o o B) 26 oo e - T OE2.. . _@N ong of the abOVE.. ——- oo e T
6) (233A)16 — ( )4 " 61_‘ )
£) 3220223 B)_ 2230322 C) 25472 D) None of the abov- 0/— <
7) The fallowing are all computer output devices except: & | 7 A
' - F D) None cf the above 3{ o -
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A) orinter B} screen Vimounse
8) Whnich of the following MS Excel formulas isused to cal"uiate the average valee

A) avg(B2-E2)  B)average(B2: EZ) 'C) avg(B2: E2)- D) \Tone of ie ‘above
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" Question 1 (25%) . . R
A) !13%2 USIJJg 2’s complcment with an §; u‘pa'ttern, evaluate the fonowing o 6 B
expression (show your work):
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© T By (12%) What is the floating péiﬁt‘representatidﬁ of the following decimal valve™ ™ =7~
(36.125),¢ in meémory. Skow your work.
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gazt:lall(l)(a)lg orithm  pseudo code ) that 1““’P-‘laslﬂng 'the- us';r to cnt'er integers less
r (c..45,9,78,...) one at a time until the sum of all integers entered
exceeds (o2 g3 ) 1000. Your algorithm should then display the count °,,fh°v“mm

even and how man ; h . . (
m—af——mmﬂ,m ere entered as well as Which has the larger Sum

'\t Of even integers entered or sum of odd ; same they will have
differentsums. —— of odd integers entered). Assu
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* Question IV-(27%) _ L T
A) (15%) : T |

i) Web vs Intemet

weh So/)«wej‘f/ (n dle -[prerre ¥

\'nkcr‘neb*f? Pard- d;t MW@M@W J

i) Markup language vs Programming language:

MarKup dengeado= ey RTMI b

fre Flm’”’.""'ﬂ? Lapgang e Cuy(Tvs)

" Clearly explain the difference between the following pairs of terms:
/\ /l

iii) Compiler vs Interpreter:A
Com P‘“‘r >
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“What do each of the following acronyms stand for, 4 )
)
ALU: ey Yt NG
HITP: Jeypes (ext f/’m@@ M




